
 



 

 

 (𝑥, 𝑦)

𝒙

𝒚

 {(1, 3), (2, 6)} {(3, 1), (6, 2)}

 

 𝑓(𝑥)

𝑥 𝑓(𝑥)

 

 

 𝑓(𝑥)

 

 

 

 

𝑓(𝑥) = 𝑥ଶ𝑥 = 3 𝑓(3) = 9

𝑔(𝑥)𝑓(𝑥) = 25 𝑥 = 5



 𝑓(𝑥) = 𝑥ଶ 25

𝑥 = 5

𝑥 = 5 𝑓(𝑥) = 25 𝑥

25

______________________________________________________________________

 𝑓(𝑥) = 𝑥ଶ

 𝑔(𝑥) = ±ඥ𝑓(𝑥)

 𝑓(𝑥)

 𝑓ିଵ(𝑥)

 

{(0, 1), (2, 4), (7, 4)}

 

 

 

________________________________________________

________________________________________________

________________________________________________

  



 

 𝑥

𝑦 𝑥 𝑦

 𝑓(𝑥) = 𝑥ଷ 𝑔(𝑥) = √𝑥
య

                  

 

 𝑓(2) = 2ଷ = 8

 𝑔(8) = √8
య

= 2

 

 𝑓(𝑥) = 𝑥ଷ

 𝑔(𝑥ଷ) = 𝑥

 𝑓 𝑥 𝑦 𝑔 𝑦 𝑥

𝑔(𝑥)

 𝑓(𝑥) 𝑔(𝑥) 𝑓ିଵ(𝑥)

 𝑓 𝑔 𝑓൫𝑔(𝑥)൯ = 𝑔൫𝑓(𝑥)൯ = 𝑥

  

𝑥

𝑦
𝑦 = 𝑥ଷ

𝑦 = √𝑥
య



 𝑓(𝑥) = 𝑒௫ 𝑔(𝑥) = log௘ 𝑥

 

 

 𝑥 𝑦

𝑦

 𝑦 = 𝑒௫

 𝒙 𝒚

𝑦 = 𝑒௫ 

𝑥 = 𝑒௬ 

 𝒚

𝑒௬ = 𝑥 

𝑦 = log௘ 𝑥 

 

 

𝑥

𝑦
𝑓(𝑥) = 𝑒௫

𝑔(𝑥) = log௘ 𝑥



 

 

 𝑦 𝑥

 

 

 𝑦 = 𝑓(𝑥)

𝑥 𝑦 

 

𝑥 𝑦

_______________________________________________________________________

_______________________________________________________________________

_______________________________________________________________________

_______________________________________________________________________

 



 

 𝑦 = 𝑓(𝑥)

𝒇(𝒙)

 𝑦 = 𝑥ଷ

𝑓(𝑥) = 𝑥ଷ

 𝑦 = 𝑥ଶ 𝒙 −

𝒚 − 𝒚 > 𝟎. 𝑓(𝑥) = 𝑥ଶ

𝑥 ≥ 0 𝑥 ≤ 0

 

𝑥

𝑦

𝑥

𝑦



 

 

𝑦 = 𝑓(𝑥)

∴ 𝑓(𝑥) 𝑓ିଵ(𝑥)

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

 

𝑥 𝑥

𝑥 𝑥

𝑓(𝑥) 𝑔(𝑥)

ℎ(𝑥) 𝑚(𝑥)

𝑦 = 𝑓(𝑥)

𝑦 = 𝑔(𝑥)

𝑦 = ℎ(𝑥)

𝑦 = 𝑚(𝑥)



 

𝑦 = 𝑓(𝑥) 𝑓ିଵ(𝑥)

 𝑓(𝑥) = 2𝑥 − 1

___________________________________________________________________________

___________________________________________________________________________

___________________________________________________________________________ 

 𝑓(𝑥) = 3𝑥ଶ − 2

___________________________________________________________________________

___________________________________________________________________________

___________________________________________________________________________ 



 𝑓(𝑥) = −𝑥ଶ − 1 𝑥 ≥ 0

___________________________________________________________________________

___________________________________________________________________________

___________________________________________________________________________ 

 


